Past Paper Credit 2005

Help Sheet

Use your booklet Urban Land Use to help you answer the
question.

e Go to P.11 AND P.12- this will help you identify areas A
and B on the past paper question

e Then write your first sentence
Area A is the because the street pattern is

, but Area B is the because
the street pattern s

e Go to P.9 and P.13 and use the information to describe
the Suburbs and Inner City and say why they are
different from the Inner City

e Reasons could be to do with:

0 the age of the housing eg suburbs 20™ Century and
Inner City 19™ Century

0 The quality of the environment eg Inner City
polluted and congested due to volume of cars

0 Street pattern different due to Suburbs having a
planned street pattern due to lots of space eg
curvilinear streets, crescents and cul-de-sacs and
Inner City street pattern grid iron

0 Location - suburbs different because next to the
countryside and inner city next to CBD




